Bermuda bowl Estoril 2005 ( SF Segment 5/6 )

USA 1 VS USA 2
USA 1 USA 2 USA 2 USA 1
N| Nickell |[E| Moss [N|Ekeblad |E|Meckstroth
S|Freeman|W|Gitelman]S| Rubin |W|Rodwell
BoardfContract | by |M|D| N-S|E-WJContract| by |M|{D| N-S|E-W} IMPs
1| 5% [S|5]| |400 5% (S |5 (400 - | -
2 | 3NT (W |4 430 3NT | E 1| 50 10
3|28 |S 2 100 3% | S 3 150 2
41 34 | S 1 100§ INT |W| [2]200 7
5120 |S|3 140 3& (W[ [4]|200 2
6 JPass Pass - | -
71 44 |E |4 620 5%X | S 1 200 9
8 | 3NT | E |4 4308 3NT |W |4 430} - | -
9 JINT (W]|1 90f INT [N 2 100 - | -
10§ 3& | S |5 150 INT S |2 120 1
111 14 (W|2 1100 INT |E |1 90 1
121 20 (W2 90f INT (W| |2]|100 5
13} 49 |W|5 650 49 (W|4 620 1
14 3& | N 1 50 3% | S 2 100f 2
I5J3NT | N |3| [600 INT [N |4 180 9
16 28 | S |2 90 3¢ [N 1 50 4
18]35
IMPs USA 1 USA 2
This segment 18 35
Penalty o) o)
Carryover 142 107
Total 160 142

Printed by PS-bridge




owbns g hg jholuz,

Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

1 cAJDA g
400 K= L
0875 6
*2QP62 11
+Ql1053 K872
Q108 & 0J 53
K93 CAQJI 62
*85 270
e 6 4
OAD7 4 7
104 0
*AKJ743 5

USA 1 - 142

USA 2 - 107

= 5% by S, making 5, NS 400
= 5& by S, making 5, NS 400

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman
W N E S S5 G T J
P 10 2&

20 26 39

34 P 4&

56 P P

X
P
P
P

= 5& by S, making 5, NS 400

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S Q%Q@}Q%Q%
b [d Ade
P 10 2% & Ko 8 6
X XX 26 39
P 5% P P
P

= 5& by S, making 5, NS 400

2 +K9853 "
074 3 USA 1 - 142
420 CAI08 4
*K 2 5
. AQ . 3107 4 USA2 10 117
©OAKI0865 E 0Q
CJ254 cQ32
& A *2QP863
202 = 3NT by W, making 4,EW 430
°oJd 32 18
K76 o = SNT by E, down 1,EW -50
£J10/7/54
(N-S)USA 1 (E-W)USA 2 (N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman (W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin
W N E S AS6446646Q W N E S $§$ﬁ$é§8
P P 23‘;?&%5 P P a4 a2aQaK
19 14 P P VEPX2 | 14 P 10 P S FEI
ON P 3N P Qggjgggj 19 P l1la P K 7259
LK ]
P P a3a58AR? | 29 P 2N P NI Ere
Y AY 74869 3 3N P P 508 XK
P KP9 &7
= SNT by W, making 4EW 430 = SNT by E, down 1,EW -50
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Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

3 +aAQ7 3 6.
120 ©J107 2 5-
*Q /664
» 2D
~a 654 s KJI102
CAQOLE 4 o83
OJd B S OCK108 3
*KQ/76 *JdAa
98
K5
CARP2
* A102853

ONOO1O1

oOOO~N~NO

USA1 2 144

USA 2 117

2& by S, down 2, NS -100
3% by S, down 3, NS -150

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S MloQaKa8 W N E S gjagzg:g
la 2203624 20 33555558
 AY 2 8¥ K
P 19 P 2& ;g;%zggﬁ P 20 P 29 A6La382H83
P P P 28#KY2P9 P 34 P P ok
7O 40 349 P AT S QA7
e PEES
$ 309 506
= 2% by S, down 2, NS -100 = 3% by S, down 3, NS -150
4 a7 6 g
110 VA0SO A4 7 USA 1 - 144
K863 g
*sAJ7
aKA3 29085 USA 2 7 124
OK J QP32
cAQJI7a W= 05
109 3 aKS8 A2
*+AQJI02 6 =34 DbyS, down 1, NS -100
v875 g
052 7 | = INT by W, down 2,EW -200
Q6 5 6

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S & T 7d0 Ko 5 W N E S $ 3090204
S TO 26 AO 3 SETER OO 6

IN P P 284 o@Kkeos IN P P P 3 8K93vs
]

P 20 P 2 S Of J& 28 Q *J*K*E;*ﬁ
aAa3a7ab V3V 79 KY

P 2N P 3e o Ao 2 5 T
AQa4P 4468 7o de Qe 9

P P P ATH 3P 6MNq d /b
& 6O 4o Ade 8 2Qa4a6a5
& 89 29 50 J ala3a7as
O 70 6 s AaK

= 34 by S, down 1, NS -100

= INT by W, down 2,EW -200
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Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

S} + AKS8OS6
620 o84 1
OK7 6
*2Q6
2 N 21074
I 0762
o542
2 *AKS8 7/
Q<2
CAK JI05
010283
*705

NOOoOw©o

J53
Q

AQJ
Ja3

O QN
hOWO

OwWwhph

USA 1 - 144

USA2 2 126

= 29 by S, making 3, NS 140
= 3& by W, down 4,EW -200

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S Qgﬁgﬁﬁﬁg W N E S (Qyég%%ﬁ%
aQa5aKae
1a P 1y aasTasae PP 1Y gmoue
S o
PIN P o2& adaAps | P 2% X 29 SNSQOKO 2
P 29 P P O PVKO4 3% P P P AKATY 545
P ¥ 4929 1Y Q AZRTTal
& 3 O K O 80 AO 6O 4
O 9O JO 6O 2 o2 G Ade 5
O AO 7065 8 &K
= 29 by S, making 3, NS 140 = 3% by W, down 4,EW -200
6 +J86 g
©A104 6 USA 1 - 144
-100 {RVZ g
*+QJ86
+aQAaA32 s A109 7 USA 2 - 126
vQs53 - 9JR76
0109 4 OAJ S
CAT 2 *109
*+KS 6 | = Pass out
VK82 g
°Q832 5 | = Pass out
K543 4

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

W N E S
P P
P P

= Pass out

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S
P P




Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

V4 ) g

_200 OCK107 2 4
0J106 2 9
*J1053 10

+ Q1054 s AK7 32

VQJ9643 v8 5

054 s OK73

*Q *AK A
+J86 7
OA 10-9
©cAQP8 4
*+Q87 62 3

USA 1 - 144

USA2 9O 135

= 44 by E, making 4, EW 620
= 5&X by S, down 1, NS -200

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S Y AY 39 7Y 8 W N E S A54040Ka06
10 a6444094K 16 708040 J
e sasee
*
P 19 14 P AN R | 19 20 X 34 FYFE IS Y
34 P 44 P SJOKOAOS5 | P 5# X P QAQ 49 29 5
S 2Qa58TRd | o 12 Y JP Y
VS@ZQAQS OCTO 3O R5
23
= 44 by E, making 4, EW 620 = 5&X by S, down 1, NS -200
8 +Q963 2
VK108 3 Al - 144
430 saqoa R US
+K104 :
24107 5 s AK 2 USA 2 - 135
Q762 A3
SAT7 S OKJ 3
*AQ £9865
S g 24 19| = 3NT by E, making 4, EW 430
0108 52 S = SNT by W, making 4 EW 430
*2J/732 8

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

W N E S
19 P 2N P
3N P P P

= 3NT by E, making 4,EW 430

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin
W N E S A3aAN4a5

1IN P 3N P

P P

]
(0e]0)]
8383833
N
3
N
S|
™

IS end

AT X a8
WOOUIN—HANX

<
~
[ 4
8

= SNT by W, making 4,EW 430
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Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

9
-100

*AJP
CJ 5
0243
*AKA4

2707 4
CAQ/74

¢ J10

*QJ82

8 N

rKOE2
063

CAK7 & 8-
20765

oo O1010

+Q53
K108 2
Q852
*703

UIN~N 00N

USA 1 - 144
USA 2 - 135
= INT by W, making 1,EW 90

= INT by N, down 2, NS -100

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S g%gégﬁgg W N E S s%%%ﬁg
PP P d@ifas PP SRGKA
1% P 19 P vgg7gT<73 X 19 X P Q IV 4 T 6
IN P P P a3a24)a4 P IN P P Q 8O 64D 7
AAMT L5465 p ASAGAAMT
a8aTaQakK a8aTaQakK
& 5 K é;&A&Z&T
PN
= INT by W, making 1,EW 90 = INT by N, down 2, NS -100
10 aAJOD 8
©10 7 A 1 1 14
600 (43> k: us >
*QJ9832
+Q1085 «a732 USA2 - 135
VK J 9 . vQa32
©J109D CAQ8 65
2ASLS &7
*tKo 4 4 = 3& by S, making 5, NS 150
VA87 65 g
OK 7 6 = INT by S, making 2, NS 120
K104 2

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

W N

P 1IN
P 2e
P P

s
= 3% by S, making 5, NS

S

19
2%
3%

goliaviRaviRa ol CY

QOoobrw—HW

o
i
© 333803

Pk
o1

W N E

P
P 1 P
P P P

S

19
1N

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

0 JO 2060 K
o Koo 5o 20 7
& T 5347

3338%
(&)

3835
OprAW

00O}
739

= INT by S, making 2, NS 120
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Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

11 a7 62 g

']1)() CAQSO 8
0107 54 7
*KJ 8

K853 « AQT10

VK J10 0754

063 < °AQJ2

1053 *842
«JAa 6
V832 7
OKS8 2
*AQ/7 6 5

USA 1 - 145

USA 2 1 136

= 14 by W, making 2,EW 110
= INT by E, making 1,EW 90

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

W N E S A26AM4 A5
Qe Ja3406
P SRR

P P 1 P
© 95939 % Q
1« P P P Q40 AO 9O 3

= 14 by W, making 2,EW 110

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

V8T QY 5
AD 4 29 J

W N E S

3
o)
<3
N
4
Q
<
A

P P 1¢
l¢ P 1IN
P P

QA AUI>

5##85&0»»»
OAN—HOQOON A

P
P
P

##GOOgg:gg 3
ocw
;i*oooowzz 3
1S e

(@ (o]

= INT by E, making 1,EW 90

12 +KJ5 g
_100 CA1056 422 8
°oJ 84 6
*0 D 5
*a864 *cAQ<P2
Q< W od 7/
CAKQO6S O/
10/ 5 *2Q8643
4107 3 5
K863 7
01032 3
*AK J 7

USA 1 - 145

USA2 5 141

2¢ by W, making 2,EW 90
INT by W, down 2,EW -100

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

29 P P P Q50 JO K Q
o Ko 5 2 4
& Ade 7

= 2¢ by W, making 2,EW 90

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

MR 02 4)¢:

1¢ P 1« P QYW AV J
SOl J& 5

IN P P P O B4V 20 7
& Ade TO 886
AVAC)

= INT by W, down 2,EW -100
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Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

13 aK8542 g
650 2 2
oK Q10 6-5
*KQ7 3
caAJ o +Q3
CAQJI 75 -+ K104
©7A432 OAS8
*85 * A109432
41097 6 8
V863 5-6
0JPE5 ol
*Jd O 9-10

USA 1 - 145

USA 2 1 142

= 49 by W, making 5,EW 650
= 49 by W, making 4,EW 620

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S gtﬁgﬁgggg W N E S 0[?020503
1l 2& P ié‘;ﬁi%ﬁé l 2& P 2&62227
29 P 49 P a4a3494) 2# P 2N P 35%’%383%
P P QB 139 P 49 P *34TQ 58K
Sk To] b p O 799430 J
Q K 39 59 2 V2V KP 397
$§$EvJQ5
= 49 by W, making 5, EW 650 = 49 by W, making 4,EW 620
14 sa08 8
vJ873 5 USA 1 2 147
-100 387 :
2AS85
+QJI7 6 4532 USA 2 - 142
A - 9KQ9642
OAJI02 0974
2107 42 *Q
:ﬂAog'IOAl 2 = 3% by N, down 1, NS -50
K53 56 = 3& by S, down 2, NS -100
2K JO3 4

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman
W N E S a20Ko648

29 X

P 3 P P

P

3
x
3
>
]

2GGBIPOOON
§35535%
cD}EQ%%@X@

35333883

U2 i
_|

U1t

= 3% by N, down 1,

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin
W N E S PAY 3295

20 29

P 2N P 3%

P P P

= 34 by S, down 2, NS -100
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Bermuda bowl Estoril 2005 ( SF Segment 5/6 ) USA 1 vs USA 2

15 +a984 g
'E“)C) ©AKIO0 6
CAKS 9
2K JI05 10
eQ7 63 cAJS
V8752 | Q63
0106 s 0J984
*AQ *9083
e K102 3
odAa S
°Q7 32 &7
*7642 3

USA1 9O 156

USA 2 - 142

3NT by N, making 3, NS 600
INT by N, making 4, NS 180

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

W N E S Q4 X605 W N E S Q3IVPJIVELT
o Do Ade 5 O & 2 Qe Ko 9
P O TO AO 90 2 P & & 38 48 A
& Ko 3 4 Q Q70 A 69 4
P 1& P 1¢ & J& 886 O P 1& P 1¢ & T 88 6 2
S TAaS5HM7606 50 Q70 8
P 2N P 3N A9 AN2AT X IN P P O 25 60 AS 4
AJoaKa3a4 K&a5429 9
P P P QJIQ 29 T Q P VKQ 2 VT
SRS e
VKY 6 O74644%
= 3NT by N, making 3, NS 600 = INT by N, making 4, NS 180
16 i) 9
90 VAP84 6 USA 1 4 160
CAK652 7
* 82 8
+JO5 s AK102 USA 2 - 142
CQ6HaSLH 3 W— OCKJ 72
10743 Q8
*106 A/ 3
@%8763 L = 2% by S, making 2, NS 90
7
o J 6 = 3¢ by N, down 1, NS -50
*2KQJ254 5

(N-S)USA 1 (E-W)USA 2
(W)Gitelman (N)Nickell (E)Moss (S)Freeman

PEQPAQL29T
AAlAMANMT A9
% Ade 4o G 2
& 3 Kéo T 8
P QY 3V 487
ACHA5Q 8T

W N E S
P 1¢ X 2&
P P P

(N-S)USA 1 (E-W)USA 2
(W)Rodwell (N)Ekeblad (E)Meckstroth (S)Rubin

R S YT
P 19 1N 3% & S Ade 4 6
Lo 7o Koo T 2
P 30 P P Y
P 29O 24246
OKO8a70 3
S9aT#5d 7

VE VAR LVE!
AKABAJO 5

= 3¢ by N, down 1, NS -50
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